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BF

IEGL (K4 Bil 70m 70m
1|BERX R&E |RBR¥E 294 282 2
20K FEE =EEK 277 298 11 6
BE &KX =EZ¥HE 283 284 10 5
Ak EfT | REZEE 285 280 5 4
5|5 H*t =E¥HE 284 279 11 5
6|iEE R ZRFHE 276 281 10 3
7(FEWL HBF ZRFHE 283 258 7 2
8|ARER EAE |RRZEE 283 257 8 4
9|lUAR ESRE ZRFHE 249 261 7 1
10| &=t ZEEK 237 261 1 0
1M{/hEH EiE =EZ¥HE 247 250 4 1
12|58 #5 ZRFHE 249 243 5 3
13|&5H K SRIEREESR 221 261 4 1
14|54 #REL =E¥HE 240 230 3 1
15|lLH —E ZEEK 242 224 5 2
16|H £&H |[REEK 192 247 2 0
17| K# AKX ZRFHE 183 228 2 0
18I0 RE SREREESHK 183 208 2 0
1917188 FIK ZEEK 192 188 2 1
20(%EH I =E¥HE 133 213 1 0
21|83 &= SREREESR 202 137 3 1

TF

IEGL (K4 Bil 70m 70m
1EXR EE ZRFHE 256 280 4 3
201ER #HEF |ERFE 243 267 6 1
3|E BE ZEEK 262 231 3 1
4K EHREE | REREK 259 231 5 0
5|JEH RN ZEEK 250 221 7 0
6|H KB ZEEK 223 230 3 0
|11l E#x | REFE 209 240 5 2
8|2 K& ZEEK 210 225 2 0
9IFLR MK ZRFHE 216 210 0 0
10|2H BFRE |REERK 212 185 0 0
11[3LE PR SRIFHREEER 190 159 1 0
12|t FERF |SREREEESK 174 165 1 0
13|51B X5 ZEEK 91 126 0 0




